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I BYNT OIREB A0GR TENOTICN INTTY WOFO YT 080, Weh o 3T
3303 (In which of the following Indus Civilization cities the doors of houses

open towards the main street)

® a) 3JQWCR (Chanhodaro)
e b) 390N (Kalibangan)
o ¢) Sncpe® (Lothal)

o d) w3xm0Y (Banawali)

2. ROO3N BROQR TN (Match correctly)

A. %35 (Niketin) 1. BReFNT @9HT0 (Portuguese official)
B. 22323 (Barbosa) 2. T 3930 (horse trader)

C. ®3Fx0 (Varthema) 3. 3 (soldier)

D. 202¢032T° (Bernier) 4. Fows® T, (French doctor)




e a) A-4 B-1 C-2 D-3
e b) A-l B-3 C-4 D-2
e ¢) A-2 B-1 C-3 D-4

e d) A-3 B-2 C-4 D-I

3. 83 FYIOB O3 5@@65301 20T E&raése% 08 ROAT BITRABTROT O
Fegend (Which of the following places is said to have been conquered

without shedding a drop of blood?)
® a) J0w° (Sindh)
e b) 20 (Kabul)
o ) ®YQTFE (Haladighat)

e () FomexzT® (Kandahar)

4. 3T 2R 00T CIRT FYT FOTOD TRREROE 20T TedeRNT. ("The

Black Room Tragedy" is said to be a figment of someone’s rich imagination.)

* a) oouEFF 3 (Robert Clive)

e b @@éd@f’* 2983&° (Admiral Watson)



® () 2 BFTPAGR® TR (John Zephaniah Holwell)

e d) TT° 20T° 3eeF (Sir Eyre Coote)

5. BEFeF ®NEN0D ¢S (Hero of the Siege of Arcot)

* a) IR (Wellesley)
e b) xR (Dalhousie)

* ¢) WP 3,5 (Robert Clive)

o () 3IF°F 0D (Corn Wallis)

6. &zg ebw%@odmeéo msg m@ﬁ%dﬁa& DOO3DN BP0 WTOND

A. 0T OEZTT (Uddandapura)

. =0T (Kumarapala)

B. 5¢0T (Nalanda)

2. T@F o (Dharmapala)

C. 2gz0de (Vikramashila)

3. ez (Gopala)

D. 8g3© (Taxila)

4. ©730:0% (Unknown person)

A B C D
e a) A-4 B-1 C-2 D-3

e b) A-1 B-3 C-4 D-=2




e ¢ A-2 B-1 C-3 D-4
e d) A-3 B-2 C-4 D-l

7. TV BeOORNYY BTT 2deed (A wrong pair in Gupta temples)

® ) TRFTTB — TI0x200 T30 (Devghada — Dashavatara Temple)
* b) N - O Dewwood (Tigava — Vishnu temple)
® () JOBT — TowF8nemow0d (Nachana — Parvatidevalaya)

e d) VITTMeOTE — wmwécgd (Bitargaon - Airawateshwar)

8. 83 FYTORPYNYY F0030T 2iee® (Which of the following is the correct

pair?)

® a) DWYF® WTOW — 1769 (Treaty of Madras — 1769)
® b) DONKRD — 1784 (Mangalore - 1784)
® ) 3e0on Wedew — 1782 (Sriranga Town - 1782)

¢ d) B@od =Teo — 1799 (Death of Hyderali - 1799)

9. 3LBOR TePINTY CIPTD DTRT D 2T, DO FOXRTTY?
(Which of the following statements is not correct about Muhammad Ali

Jinnah?)



* a) 19063 303 oMK WHPEIITY WBTD TWWOLVON TWTWELBONTT
ONFTEF SNT T (He was the secretary of Dadabai Navroji during the
1906 Calcutta Congress session.)

® b) 191309 [NR0NTY, AeD TRVLRTV0 Tae0dd L0IRTI
(Joined the Muslim League in 1913 and became a radical nationalist)

® () VT VW SOTIL @33@01 2TOTT woed FZFNEd 1916 (He and Tilak
were joint Worked for Lucknow Pact 1916)

o d) 1919-20 T =T MEOREIOITT e::%oomses WRITOT aa’%d@oﬁo&bel
TR HFANCT 30wOATTL. (He wholeheartedly supported

Gandhiji’s non-violent non-cooperation movement in 1919-20.)

10. 33 ﬂe@a AFoFOTRODN 0339 0e80NY ATFOATITR LI TT DOTD MO
o3won Be9w? (When did Gandhi say that cooperation in any way with

this satanic government is a sin?)

® 3) TP 00T 2300 «3toon (When the Rowlatt Act was enacted)

¢ b) BOTTTRR TOZ BoERATRn (When the Jallianwala tragedy
happened)

® () DVOWIEVT BRWHCS NP©wocon (When the Round Table
Convention fails)

e () sm%s@f wworE's BFL3ATRN (When communal award is announced)



1. DTIRYZ ITPR %MU@% DITBRABROT 23T NPIFT° 2ITS® (British

Governor General who captured Mysore on the pretext of misrule)

® a) Cuw's oA (Lord Dalhousie)
e b) EFs LOCHo Wouss® (Lord William Bentick)
® ¢) 5P0or¥ (Bowing)

e d) wors JQA (Lord Wellesley)

12,0023 BeRAE, S QOROID YT, @i&i S TS, §EF YOWOI®
BHOTPONY 5 TR FT0R, WM FORT WHREBTTY FHeToTET
TORFFSF BN (Uppina Satyagraha, Leader of All India Women’s
Conference, 5 years’ imprisonment in Quit India Movement, Seva Dal activist

in Belgaum Congress Session)

* a) WFP %)ngse (Bellary Siddamma)
e b) TN BOTTOT (Umabai Kundapur)

® () TIHORTED BEiRemery e (Kamaladevi Chattopadhyay)

e d) o&d@edda’% @oaF (Yashodarama Dasappa)

13. OTOETR 230050 MRTHT MOFTITRONY FeTO FPIBTY, BROLTI.
BT C3E IO TOBoRYT? (Mahavira attained knowledge only under the sal

tree of the village of Jurmbika. On which river bank is it?)

® a) RIF BND (Suvarna Mukhi)



e b) 0T (Rijupalika)
e () dToxS (Niranjan)

e d) Fowd (Ghandaki)

14. 33 ILNT OSw 3305071%30 RIPONFTTOT T0I® 6350%?5/@35%71360%5 aﬁ%
e Y $0ed FoWPOY (Which of the following symbols is not found on

Mauryan punch mark silver coins?)

® a) 30T (Tree)
* b) &3 (Tree)
® ) BPCIF-2303 (Sun-Moon)

e d) = (Tiger)

15. 85 3N 03T TOIT TR F0IZRY (Which of the following statutes is not

=0

an award statute?)

® 2) YOTNPD® A (Allahabad Statute)
* b) TP Mo oIS (Mehrauli pillar inscription)
® () ATY o83 (Aihole inscription)

o d) agz’aﬁd ZoxS (Besnagar Inscription)

16. eI ¢PTTT TYODTIF TWZTTTYWRITY (Ancient Indian jurisprudence

was not composed)



e a) 3N (Manu)
® b) 0T (Narada)
® ¢) om%gm% (Yajnavalka)

* d) OF=TS (Divyavadana)
17. 38 3YNT TewINYT, TONeda (Consider the following statements)

1. By 06 FOTHIT STENYTY, VOATE, WRNE BB, (Agricultural soils

release nitrogen oxides into the environment.)

2. 2ZOTOTN LR CROTTBIY wéﬁdﬁ QENTE B[S, (Livestock release

ammonia into the environment.)

3. BREY YTV BEFOIPIYT TTLRITF FONINTTY, TORTT, LN
=39023. (The poultry industry releases reactive nitrogen compounds into the

environment. )

S QERTT TeYINYY 03TYH FOC3wNT? (Which of the above statements

1s correct?)

e a)land3
e b)2and3
e ¢) 2 Only

e d)1,2 and 3



18. Fpe® 30T TGONY AW BINW DT SRTRRWRNY? (Why don’t dew

drops form on a cloudy night?)

® 2) R0 EQYIOT WENTWOIPMET DFTEINTT), BRCTBRAD
%o@@éra%ﬂggﬁ (Clouds absorb the radiation emitted by the Earth’s surface)
® b) IRCENYD FRWOD QITLOTT, — T2RoweS (Clouds reflect -

the radiation of the earth)

* ) SRTT TOGNYY LRWOD ¢S TR TITHPTVZY BRODITT
(Cloudy nights have lower temperatures on Earth)
* d) SREAW WERT MYODZY SOT WEF, STdONAZS (Clouds deflect

blowing air to ground level)

19. 3TFE3s FOTYOS [T ToMe VFT FOTOS [ITW IWNT T[TV, St
38030807 (The area between the Tropic of Cancer and the Tropic of

Capricorn is called?)

e a) &0 TOCeH (Turid zone)
* b) S0 00D (Humid zone)
® ) ¥ W0 (Frigid zone)

o () 30Tt IOOD (Temperate zone)

20. @d@ﬁg@d@ ©Z0T AOTT NE Gy ? (Which is the most compact

planet in the solar system?)



e a) 203 (Mercury)
e b) 33 (Saturn)
e ) MO (Jupiter)

e d) 3w (Earth)

21. WYNO TONMAYEN THXEOD NTRIBY TEHCONTII TWES 363 O ?

(Which animal species is protected in Biligirt Rangaswamy National Park?)

e a) =9 (Tiger)
e b) 30z (Lion)
e ¢) 3 (Elephant)

e d) 333 (Leopard)

22. 3030 Q0T TOWFONY NOIPNTE IO 8eTT Km@%gd TOZE TS0

0330z ? (Which riparian states are involved in Cauvery water sharing?)
1) 3o e3s (Karnataka)

2) BNPTo (Tamil Nadu)

3) 3c0$ (Kerala)

4) 3TN0 (Puducherry)

B33 3SIOB @oﬁ%ﬁ%ﬁ@ ROO3RT YT 0A (Choose the correct answer from the

following options)

e a)lAnd 2



e b)l,2 And 3
e ¢c)l,3 And 4

e d) 1,2 3, And 4

23. mNONRY MOgNY TFo0 STVRETE TTOTY WINY TOOIRT B0 O30T ?

(What is the correct order of the oceans in ascending order of size?)

® 2a) LHOTR DTORINT-FPALT -LE30e8T -35°F e35° (Indian Ocean-Pacific-
Atlantic-Arctic)

® b) STFLIT-00BR HTOTNT-WEROLIT-PALF (Arctic-Indian
Ocean-Atlantic-Pacific)

® () BT T -LOLROWT -PALT -H0TR TTOTNT (Arctic-Atlantic-
Pacific-Indian Ocean)

o d) ©EROLIT-HOTRETORNNT — SFFLT — PALT (Atlantic-Indian

Ocean - Arctic - Pacific)

24, %556 NBTIVTTY 23PN O W3¢ (Zaid is a seasonal crop)

a) Yonk (Watermelon)

b) Aeecim 9= (Soya beans)

¢) 22npee (Maize)

d) Feee (Jute)



25. J0ToRTT @3503 3SNT T30 (The lowest layer of the atmosphere is)

® a) WOPIJRACNT (lonosphere)
® b) S0FREACHT” (Mesosphere)
® c) TLPAORT" (Stratosphere)

o d) ¥reRRA01T® (Troposphere)

26. 5@5—1 093 eﬁ@earﬁ%ﬁmq mg-z 093 SOTINERODN B0 JRODA.

-1 Tei-2
A, 90RRCHC (Aluminium) 1. TT%@E (Galena)
B. aex (Lead) 2. ¢TeF (bauxite)
C. 8289 (Iron) 3. %ﬁuu%wf (cassiterite)
D. 230 (Tin) 4, E:SG%EF (Hematite)

A B C D
e a) A-4 B-1 C-2 D-3

e b) A-1 B-3 C-4 D-2



e ¢ A-2 B-1 C-4 D-3
e d) A-3 B-2 C-4 D-l

27. 3w 96 AT C3RERTONTY, 03T SN 03w B [oed
m@&ﬁ@@ﬁd? (Kaiga nuclear power project is established on which bank of

which river?)

e a) P IO AEmoTE (Left bank of river Kali)

® b) %9 IO WOTOE (Right bank of river Kali)
* ¢) non=g S0 oo (Right bank of river Gangavalli)

o d) non=g IHOD HBHORE (Left bank of river Gangavalli)

28. AROD® TN QNI FeORTT. (The Suez Canal adds to these.)

® a) JAYT B WOorRoLsF MNONYY (Pacific and Atlantic oceans)
® b) epous ) 0BR WT0RNTN (Atlantic and Indian oceans)
® ) BREFONT BRY D) ©TY BN (Persian Gulf and Arabian Sea)
o d) SHRWTAONT® ) oI TZOTAW (Mediterranean and Red

Seas)

29. QRPNEI) DRV FOTYOS (B38T9F’) DINTOTD FTODRNS. (These are

called equinox days.)



* 2a) {RTITY TN ) ToINTTBEH Fe WBHONTY, BROVTVH DIN
(Days in India are of equal duration both day and night)

* b) TWOWRTOZT TR Ty THIATTER T WHTPONY TBRONTHT
Qsn® (Days having both day and night of equal duration around

the world)

® C) TN TISNOT HIETFE VT WTHONTY), TPROVTIT LIS (Days
having longer duration than night)

o d) 5o TRONOT QEFF T WTHODNZY BHOVTT BN (Days having

longer duration than night)

30. 35 3YTOT CIPFYT LRTSHY “DT FNTPT TotT® AR QO
TR (Which of the following has not been declared a “Biodiversity

Hot Spot” in India?)
e 2) IO (Himalayas)
® b) T Fensd (Western Ghats,)
® ) QOTBPC-2TF W33 (Indo-Burma region)

o d) SYTR Fnw (Nallamala ghats)

31. {PTBRY ST TINDTT FA FOSNTI), TRODY WICWO. (Set and write

important agricultural revolutions in India.)



A. 8338 08 (Gold revolution) l. @ed= UO@ﬁﬁ (Fruit production)

fa

B. 2ot goé (Gray revolution) 2. OARRWT Hﬂ?ﬂtﬁ?ﬁ (Fertilizer

production)

C. =90 woe (Yellow Revolution) 4. E;j@ Lemng w%aﬁ (Production

of oil seeds)

D. Te@ 308 (Round revolution) 5. {:i'ff.).raﬁtg; w@'&tﬁﬁ (Potato

production)

e a) A-4 B-1 C-2 D-3
e b) A-1 B-2 C-3 D-4
e ¢) A-2 B-1 C-4 D=3

e d) A-3 B-2 C-4 D-I

32. FYNIHTY IR BRTO D&% SResrgioRdY Xesc*? (Who among the

following is the first women Speaker in Lok Sabha?)

® a) Té&zw otdee® (Pratibha Patil)
® b) »WFeo Ao (Urmila Singh)
® () <NCTP BWRT® (Meira Kumar)

e d) :bme gmw (Sushma Swaraj)



33 & BYNT  AR@NYY  CIRPYD  (DDIRB-IRCNW)  FOOI®N
BRoDFIRMSY? Which one of the following pairs (Schedule-Subjects) is not

correctly matched?

® a) FRTIC VIRV — TeERWT B FRessed (Third Schedule —
Forms of Oaths or Affirmations)

® b) Q0L NRRS - RN (Eight Schedule — Languages)

® ) LOWITIe WMWBRW - Toty BPOPY ewdn¥ mowsd (Ninth Schedule
— Allocation of seats in the Council of States)

e d) TTJe YDFRW - TIFOTTT SHROT RS WTTEIOD DWOTTNML
(Tenth Schedule — Provisions as to disqualification on ground of

defection)

34. WO BREFFT JY0IPREITO ) To2ievsdd T er@dycd (The resignation

letter by a Judge of Supreme Court is addressed to)

® a) yPT3IT 08, 3%03353@@? (The Chief Justice of India

® b) ©¥Z03 OO A0 FREFT T33O (The senior most Judge of
Supreme Court)

® () G@&%ﬁé (The President)

e d) THoS R00§ (The Prime Minister)



35. 88 BINTPNYY P  (AWOBPI - R TOLTRI)  ROOITN
BRODFOIRMOEY? (Which among the following (Provision — Part of the

Constitution) is not correctly matched?)

® a) FOBYS TWE3NKW — 8¢ ont (The Union Territories — Part VIII)
® b) TOIF ) 0@ T33O — 103¢ gn (The Scheduled and Tribal

Areas — Part X)

® ) TYORTWOTNR — 113¢ on (Tribunals — Part XI)

o d) ©0E3 LR - 173¢ gon (Official Language — Part XVII)

36. TRF TOKNY TWIOH DRODTY 33 FINIPYNTY 0TI
2003NY? Which one of the following is not correct in the matter of

formation of new States?)

® 2a) FOAR) THIRIT TROT BROF Toega) TeBTOT (Parliament may
by law form a new State)

® b) YOBT TR FONRIT VATV WBRARL WY VT
UTRARBOD SRTRN VWOFINTT, WITWRORTZT. (Such law shall
contain provisions for the Amendment of the First Schedule and the
Fourth Schedule of the Constitution)

® () ¥O3T wmamez 3685¢ DROPROPOT FONTRT SHWTR Q0T
wamésmmgd (Such law shall be deemed to be an Amendment of

the Constitution for the purpose of Article 368)



* d) ¥OIT FPIPTI) WONRPRIT CIPRYTE DARTIONTY, BRTLY
ROWOTTL TJTESND, NRNW VF BATY WHLRBTH WENROTBY (oo
TOVTONT, YLeDAT BRTB, FORITY WoRFMRNE (No Bill for
enacting such law shall be introduced in the Parliament unless it has
been referred to the Legislature of the States, whose areas, boundaries or

name is affected)

37. TOXT TOtREPOTI) TORTENTD 83 FENTTWT FOTOD 3TN F¢0T
MZEU@Tbgd (The Governor of a State is appointed by the President on the

advice of the)

® a) Tpos w0 (Prime Minister)

® bh) emmc%g\ (Vice- President)

® c) @008 (Chief Minister)

® d) 08 Fy00Reee (Chief Justice)

38. 90T TPOROIRNLD BNZTOT 3 $0DEY (The minimum age required

for becoming the prime Minister of India is)

® a) 30 IRFNE (30 years)
® b) 35 [XFNL (35 years)
® ) 40 JXREN (40 years)

® d) 25 TIFNY (25 years)



39. 83 BFTRTY, LeDFOIN FONTIVT 2,000 'GTINDY’ DOTD R0 BRETF
QOF TN BRTVOPTLT (In which case, the Supreme Court specifically

opined that Preamble is ‘not’ a part of
the Constitution?)

® a) 3TN0 CRRACRT® TFTe (Berubari Union case)

® b) 3c30T0T 38 TFTeo (Kesavananda Bharati case)
® ) ATHER (2) DA (V) Both (a) & (b)
o d) 0T cipPTBe ©Y (None of the above)

40. ©903T-Tot5, RO DIWITII, YWLeDA, B3 FINT TELIRTIY zonedd (With

reference to Inter-State Water dispute, consider the following statements)

1L.BODTVNY BOBIN WOIT Tozy L DT TP QeoF 0N e
TOBRDINTTY, WIRWLO ©HTTHIY, eRT (The constitution has empowered the

parliament to make laws on the adjudication of the inter-state water dispute)

2.908% OS0PTC @md@ ROWORATOZ LTITY C3TweT3e SplevwolSlevvoy)
5%033wagsc%)oo:bR’)Dol 3ROQY. (No court in India has the jurisdiction in respect of

any such dispute)

20eDT BeYINYY 03T FO0IPNT? (Which of the above statements is/are

correct?)

® a) 1 only
® b) 2 only

® ¢) Both 1 and 2



® d) Neither 1 nor 2

41. oo, P TCOTRTET TTIESNPT FOWONATOZ O3B FONTIT STRTR
TORMVT TOWIDIFON DTY FTESFN SODIT BRAFNTTY, THOTLSTLO TT¢
©pTT eRT? (Which Constitutional Amendment again provides the States
the right to specify the socially and educationally backward classes in relation

to a state or union territory?)

® 2) 101 S¢ SRFT&R (101st Amendment)
® b) 102 Se SRI® (100nd Amendment)
® c) 103 Se 3NI® (103rd Amendment)

® d) 105 3¢ IR (105" Amendment)

42.2024-25 O 3T0FWT Doz 2EFIY 38, ﬂaazﬂ%eé, N® O3, CRVTIH R
OTLINT 5 5080 Q3RERININ 2t AT ANOTRRCINT? (What is the total
fund allocated for the 5 Guarantee schemes of Shakti, Gruhajyoti, Gruha

Lakshmi, Yuvanidhi and Annabhagya in 2024-25 Karnataka State Budget?

e 2) 52,000
e b) 50,000
e () 48,000
e d) 46,000



43. LRTIT DTEd DI FONHY &% FINT 03T FRNTT), LHTWRORT?

(India ‘s Forex Reserve comprises of which of the following assets?)

® a) TS T BAN (Foreign Currency Assets)
® b) 33, (Gold)
® C) DIeR WYOWON' THN (Special Drawing Rights (SDRs)

o d) 3edT 2P (All of the above)

44. BEOTNYTT THOODT), QALY BONFIRT WG TT QESONT), TEITRD Ve
AN (MPC) dGFOMEST. 88 FOTLFTY, BHFFZONY HEOTDYTIPTDIY,
Q0D0ERED MPC 00T 83 FSNTZYNTY OIRRYTR), SFTAY BRTWUTIT?
(The Monetary Policy Committee (MPC) determines the policy interest rate
required to achieve the inflation target. In this context, which of the following

may be recommended by the MPC to control deflation in the economy?)

TENT BRT WHR FOOIRT YLITHIY, BORT[RA.

1. INTH WeREeD ©RVTITY éag%ﬂ (Increase in Cash Reserve Ratio (CRR))
2. @07 I8BQ ©y¥ (Increase in Bank rate)

3. ORFF BT TITTY @9F (Decrease in Reverse Repo Rate)

Select the correct answer using the code given below.

® a) 1 and 2 only
® b) 3 only

® c) 2 and 3 only
® d)1, 2 and 3



45. 80 NS 5@@553 éageé o35essen WOIRAITT (Currency appreciation
occurs when)
* a) R ITAINY 55@@5@ zﬁéﬁ BReDATT BACINET (The value of all
currencies fall relative to gold)

* b) R ITINY 5@@2@) ?,3556 SReDATT DTET (The value of all

currencies rise relative to gold)

® ) 20T FTIC® ﬁa%@ SHBRom TR BeedITWT LTHES (The
value of one currency rises relative to another currency)

o d) clxyme @ (None of these)

46. 35 FINTPYNTY BPTBI), RS WFF OLF FPLLII0TD TONBINTY

Which of the following are consider as Liquidity adjustment facility?
1. 2eTOT AP0 @@&% (Marginal Standing Facilities)

2. 33w¢ T (Repo Rate)

3. Ao Be3ed @@&% 33T (Standard deposited facility rate)

® 2a) l&amp;2 only
® b) 2&amp;3 only
® c) l&amp;3 only

e d) 1,2 &amp; 3



47. Q3T P ARITT VRODNY B3 TINT 0T FOFNTI) FYLATCND?
(Which of the following institutions were established under Bretton Woods
Conference?)

1. @O@OU@%@OSJ %R0 dG (International Monetary Fund -IMF)

2. 0Z W0 50;\2(World Trade Organization)

3. 23 253308 (World Bank)

4. DIVERPEED B @&i’)%@@ﬁoﬂ 030TRELODT® 23305 (European Bank for
Reconstruction and Development)

NS BRCT WP TOCIT VBT, eioa"%mfé: (Select the correct answer

using the code given below)

e a)l,2and3
e b)l,3and 4

e ¢) 1 and 2
e d)1,2,3and 4

48. 163¢ Te0ToA SOIRENT WFFTIN G SeeBTRORWYT? (Who has

been appointed as a chairman of 16th finance commission?)

® a) AROIT® Q° @GQ%O“ (Vijay L Kelkar)
® b) o37° 3 a0 (N K Singh)

® () ®TROTW IMeOA3® (Aravinda Panagariya)



e d) OoX¥® BWPTT (Rajiv Kumar)

49. 2023-24 3¢ IIQ FENIJYNYY cIPRYI 0T B0 STHONTY BT
T BROQT? (In 2023-24, Which of following has highest share in central

tax revenue?)

e a) &m0 30R (Income Tax)
® b) BTRF3eRT 301 (Corporation Tax)
® ) ITBD = Fewo 301 (Goods and Service Tax)

o d) 3o @0 A03INE (Union Excise Duties)

50. 2% TWOS DOWT YVITITIONTY, TYPAE FWONW (Sweet revolution is

measures to increase the production in)

e 2a) 2eoTeTr3(Beekeeping)
® b) QeomdF (Fishery)
® ) INFTONRETN(Animalhusbandry)

o d) TRNT Bened (Mango Crops)



51. AN B35S ARWOITY NOF 3007 BRODTIT BOBD — &N, (The

item with the maximum weightage in the Wholesale Price Index is )

a) 830 TN (Food items)

b) Sc3502T W%ﬁﬁ% (Manufactured products)
) QOB @R 3§ (Fuel and power)

d) 20edT cdRPYTRe ©Q (None of the above)

52. 30TORTRTY HATORE TOFORR) 83 TTLLOTRN Y0ZS03RdET (The

greenhouse effect in the atmosphere is produced due to)

a) WOCINTOTBOROT SO0TN NITD WOTVWTEIT %oeaéra@égébé SVeN)
DN-BRTEHRTINT (Absorption and re—emission of infrared radiation
atmosphere by the atmosphere)

b) JOTORTLLOT O B QITEOT LCOBRWNT Y 3TV~
BRTERTONT (Absorption and re-emission of ultra violet radiation by
the atmosphere)

€) SRTVTTLNOT NeedT WFTR, WeOIRPHIT DIy VHL-BRTARMDE

(Absorption and re-emission visible light by the atmosphere)
d) SRTBALOT REET X$8I 80@6&.@%?8&35 R DN-BRTERTINT

(Absorption and re-emission of visible light by clouds)



53. QNTER AIROTI)Y BREFTBOOT T[O3RET TEOINEGS: OTHE AN
JSTNT TTHT BOWOT &oe7t TTODRMETT (A mutual relationship between two
organisms, where both of them are benefitting from watching the other is
called)

® a) m%me@ﬂO(Mutualism)

® b) 3TN (Symbiosis)

® ) ITemwoNSI(Parasitism)

e d) 300 ATIY (Food chain)

54. "LORe” BTT' 98 SeTY DITLOTIY SocOBRIT. QTN 03P
2OTVRTOT TWTTY @ﬁ’g%d@d?(’Ozone layer’ absorbing ultra — violet
radiation exists in which of the atmospheric layer?)

e a) é&@)@eﬂr@@aojbcs(ﬁoposphere)

® b) daﬂraao:bo"“(Mesosphere)

® ) ARtiee0oBT*(Stratosphere)

)
o d) @MGF&O&DOG(Thermosphere)

55. R0&OD HAT TIOZ  FeoTWI), BRT DoY) AYAIRET? (The
Indian Biological Data Centre is being set up in which state?)

e a) [OCeed (Haryana)

® b) Fower (Punjab)

® ¢) ¥03T TIe3 (Uttar Pradesh)



e d) Mdesoes®(Gujarat)

56. FINTIYNTYY ApRY O "oT3Z Foeazn? (Which of the following is
not a tiger reserve?)
® 2a) 230 (Bhadra)
® b) WYNO TONTOF AW e 0D (Biligiri Ranganatha Swamy Temple)
® ) onTXY (Nagarhole)

e d) 3oud=n (Kudremukh)

57. NISAR e0@ni®" o= 39N ﬁoﬁ@ﬁ%@ O3R)) 230830330N
@2‘35@% SJB3ePNT? (The "NISAR satellite” is jointly developed by which of
the following organizations?)

e a) ISRO and NASA

e b) ESA and ISRO

e ¢) ESA and NASA

e d) ROSCOSMOS and CNSA

58. 3¥NT 0IPT AYer TR0 ®EROBMOFW DPBNTIY LT S0
PTTENR wWIR0, 2023 TY dodeedmionG? (Which of the following

Scorpene Class Submarines was commissioned into Indian Navy in January,

20239)
e a) INS Vela

e b) INS Vagir



e ¢) INS Kalvari

e d) INS Karanj

59. w030 IRIF, DY A0 ¢S HOBRFS IFHLD D) Fzw ARODNTY
S0 QETY NTY TRFOD THLLT WYRTVTFH BT 03N FOT ZPT 30T
30?@35 QeRaddeeodn % 2dpe®AT (DST)?2(Which company has joined hands
with Department of Science and Technology (DST) to conduct research on water
and air pollution and to do real time river-water and air quality monitoring 9)

e a) Yotief (Intel)

* b) Ber o (Mircosoft)

e ¢) IBM

o d) ARYNYY cIwzyme 9L (None of these)

60. HIVS ST YIREBEBT TNBY VOWTBIRT T (F°) 2023” & 03
30T Aedoood sodweeedadd? (Festival of Innovation and Entrepreneurship
(FINE) 2023’ was organised by which Union Ministry?)

e a) MSME 32350003 (Ministry of MSME)

® b) ecd, Y Fwose Keseewod (Ministry of Commerce and Industry)

® ¢) &g@ﬁ SvelcH] 30@@36 %3RO  (Ministry of Science and

Technology)
¢ d) XA W INT FeHTONE A0 (Ministry of Housing and Urban

Affairs)



6l. [ERRD" 2.0TIOT T DO ATT WP WLFTINTI), BRIV
EPRRYT TWe3W XATe (What is the name of the geographic region where
hydrogen serves more than one end sector or application)

® a) %C&@ma@ oe% (Hydrogen sphere)

* b) FBeewe® F:3 (Hydrogen valley)

* ¢) [TWRRS ADoTT® (Hydrogen cylinder)

¢ d) ZERRT Bee® (Hydrogen cone)

62. B8 TYNT T IFOIN PEDOW 2.0TT B[PAT HFI) BNNTY BeedRST.
QT BHOR DLVOWT 2t [WIPAT ﬁag@ 3R. 36,000 $TT 800 D)
DOTTORIN TNV 2ot 52553582 (The following pie chart shows the monthly

cost of a family in degrees. Based on this, the total monthly cost of the family

is Rs.)

e a) Rs. 12,800

® b) Rs. 12,500

e ¢) Rs. 12,000
e d) Rs. 11,500



63. 59T DOWT TS, TFT, WOTWT WRETE, WHCRE DOTT LI, LIPW DOTT
3T, 3T RO0WT BRODF, BT BINW Y T, (The sky means the
star, the star means the cloud, the cloud means the earth, the land is the tree,

the tree is the sun, when the birds fly)

® a) 333 (sky)
® b) Sn¢ B (cloud)
® ¢) g3 (star)
® d) =T (tree)

64. ACTI FITNOZ BRTHW. TODTK FITNOT LOODD STT 1eTINOT
3OO0, STV TWRTA W FIT GLON0T 300DV, FIT  WRTANCZ
S 00N, TOMTT YWTY 035900 300HT? (Sita is older than Kanika. Nayana
is older than Kanika but younger than Sita, Shilpa is younger than both

Manasa and Kanika, Kanika is older than Manasa. Who is the youngest?)

® a) Shilpa
® b) Manasa
e ¢) Illa

e® d) Kanika

65. 23¢3003R0TTY DIV, 40 BwT® SREFTRER), T3
BRTBOADIT.  OTFTRY DY $3) DRBT TSN H[IVTO TITWOCRED



WD) YVT TR -NFY 60% TR FT) TWTYTL0T TOGONTIN 3I0TRES
BITBERCND. TOMOTT DT B&RD d@@@j—ﬁ%ﬁe RIS ESTTS TINODC VPRI Q
(A bakery opened with its daily supply of 40 dozen rolls. Half of the rolls
were sold by noon and 60% of the remaining rolls were sold between noon and

closing time. How many dozen rolls were left unsold?)

® 2)6
® b) 10
)8
o d)12

66. TR ﬁo&%ﬁ%ﬂ SR8 116. HTTEC "A’O@% Y FRTE ‘A’O@%ﬁ%ﬂo 9: 16
ODTPBIYTT, BATO 0 T BRTIE B0, 1: 4 ORVTRITYS. ToNosd
QTBIC HOA3, 03wzy. (The sum of three numbers is 116. The second number
and the third number are in the ratio of 9: 16 while the first number and the

third number are in the ratio of 1:4. Find the second number?)
® a)8§
® b) 36
® c) 64

® d) None of these

67. 83 83,30 Aeedr FD? (The area of the shaped portion is)



2cm

2 cm

5cm

5cm

® a)l0 sqcm

b) 14 sq cm

® ¢) 21 sq cm

d) 25 sq cm

68. A, B, C, D 3@ E 02) 0T sTH Fe0TF, dTDTN FOLRNHCTS
(pentagonal) £¢20®, TRSNTY BVEWT. B 030 E 302 C I@I

BVBN. Do Eod &)@%z§ QUTR. C 0D QBLRNTHTOT R 0ITd? (Five
children A, B, C, D and E are sitting along the corners of a pentagonal table
facing the centre. B is between E and C. D is to the right of E. Who is to the

left of C9)

e a)B
® b A

e c)D



e d)C

69. A" FETRT FON. FeTF® WTT ABRTO ARTT” WR[ON [P =B

RETD DOW TWTHIYT. TERT [ITVSCN BV, TOMOIT AT [PTEN TEN
5020082 (Sunil is the son of Kesav. Simran, Kesav’s sister, has a son Maruti
and daughter Sita. Prem is the maternal uncle of Maruti. How is Sunil related

to Maruti?)

e a) Cousin

b) Brother
® ¢) Uncle

® d) Grand Father

70. 3oNSCSPOT 37 10 noLdn @dowmgﬁggd Y WS, 1.27 ofnielal
QTS 83 mc%oédd Seen SRS SLOONT® NPT éﬁcﬁa&a%mmgd. Gk
LOODNT® [NNT JOBT 5 QeNTNT QTR é)m%@s-‘ﬁ@?ﬁ DETBSIMOTT.
MBIV B OONT-T VDT ¥RE HF)? (Class starts at 10am and lasts
until 1.27pm. Four Periods are taken during this duration. Students are given a
S-minute break after completing each period. What is the exact duration of

each period?)

® a) 40 minits

® b) 45 minits



® ¢) 50 minits

® d) 48 minits

71. Feomn B3I deerdod Sent 11 §.00¢/ TO TNe Twms AT HITY
T3R80 Fersy) 5 3.80¢ / o BNGT, DT AeOTY BRe3o Fen DTNTOTT
? (3.20¢/ o Ien3Q) (If a boat sails 11 km/h along the stream and 5 km/h

against the stream. The speed of the boat in still water (in km/h)?)

® 2)3
® b5
)8
o d)9

72. Te@OdRTUFT” T S03F[BIY, CIRITT WONFT WO
BIEL L$FSRMOST (Radiocarbon dating technology is used to estimate the

age of)

® a) ISweINY (Fossils)
® b méd%ﬁ%i) (Monuments)
® c) 20@NY (Rocks)

e d) ey (Soil)



73. TeRode FeOTN THWAT TeRodpe STONMD 03PF)TO0T BEFIRTT

(Radio waves sent out by radio stations are reflected by which)

® a) LReXPEAONT” (Troposphere)
® b) JOONEVOT® (Stratosphere)
® c) SIREACNT” (Mesosphere)

e d) wosdnecy (Ionosphere)

74. 85 3INIBNIE) CIRYBR, BLF), BOFRHT WFTTN WIZCHIT

(Which of the following is used as amplifying device)

® a) t330XC° (Transistor)
® b) ®a3weew® (Diode)
® C) @%KDF O° (Transformer)

® d) Fzoe3T° (Capacitor)

75. WPTT 5003 CIWT RN P FOTINTTY, TS OoFe3nTIN
TOTEF AT

® a) Hammer

® b) Stirrup

® ¢) Tympanic membrane

® d) Cochlea



76. 35 FINIYRYY IR VTTOECH FTONSOIPAT (Which of the

following is hereditary disorder)

® a) FE(Scurvy)
® b) e BTwIT (Colour blindness)
® c) 03T (Rickets)

® d) T BT (Night blindness)

77. QRNTY 20T AFTLWITO 03500? (One of these decomposer)

® a) onx® (Fungai)
® b) sS(Algae)
® c) JpEdredna (Protozoa)

® d) 3ced(Insect)

78. W 1 B B TEd 28007 BOS®N  BROKA — Match the (list 1) with

the (list 2) Which they are observed:

1. 900239 (Amoeba) a. a3 eI (Budding)

2. VFF) D (Star fish) b. 3>oteeme)T (Fragmentation)
3. A,,0RET ;00 (Spirogyra) C. W38 (Regeneration)

4. 2030 ea3 (Bryophyllum) d. LJTIL3 (Fission)

® a) 1-d, 2-c, 3-b, 4-a
® b) I-c, 2-b, 3-a, 4-d



® ¢) I-b, 2-c, 3-d, 4-a

® d) I-b, 2-c, 3-a, 4-d

79. tRRONL TOTIBEL W$RT on. (The organ used by bat to fly is)

® a) JenWeko (Patagium)
® b) I5nsd (Wings)
® c) g (Feather)

® d) t»o(Tail)

80. T 20" BN B3 V00T ST, (Due to this organism Kalazar

disease occurs.)

® 2) @%@@O&W %mﬁj (Plasmodium Vivax)
® b) Q0w SARIWT (Entamoeba Histolytica)
® ) & IIncARED LR (Trypanosoma Brucei)

o d) c?ég;eaom (Leishmania)

8l. 88 TINTIRNTY CIWFYT VOTROT DO, 070w ? (Which of the

following is not a special character of carbon?)

® a) ﬁom@&c%’dt‘a (Isotopism)

® b) I=on3 (Isomerism)



® c) LE3ESeddy (Tetravalency)

® d) 3320300 (Catenation)

82. IINIPYNYY 03P @& BT dwes. (Which of the following is

the most lighter metal?)

® a) Ocpoxo (Lithium)
® b) BReBR01O(Sodium)
® c) ¢3g(Silver)
e d) 233(Gold)

83. 81 FINTHNVY CIRR/H) T3 NBFRIT VO IFBRFINT/SS.

(Which of the following method/s used to soften hard water.)

® 2a) VoI VWO BF & (lon exchange method)
® b) ARRONHT FoTRer e TIPS (Washing soda method)

® () IJRNFLRZF Do (Permutate process)

o d) 3T QP (All of the above)

84. 83 FINTPYNYY IR FRRCFTPAT-T1 YVT0H0H ©Q.(Which of the

following is not an example for thermoplastic.)

® a) JI5° (Vectol)



® b) 3o (Nylon)
® c) &35 (Teflon)

o d) OHT (Polythene)

85. e 1 = WF Tty 28007 ZOCIPN  TeoHA — match the (list 1) with

the (list 2) Which they are observed:

1. ZefeIee);-60 (Cobalt-60) |a. @be¥ 2383, (Bones treatment)

2. gom@e>-14 (Carbon-14) | b. e3€00033@ (Anemia)

3. BOA*-59 (Ferrous-59) c. BY YT (Fossils Identification)

4. Jozsw-32(Phosperous-32) | d. Ta;3 2383, (Cancer treatment)

a) 1-d, 2-¢, 3-b, 4-a

b) 1-c, 2-b, 3-a, 4-d

¢) 1-b, 2-c, 3-d, 4-a

® d) I-b, 2-c, 3-a, 4-d

86. 23T ©e YFTOD IO BRF" 0INW SOONY BToRIRNT? (In which

river The world’s longest river cruise is started?)
® a) 533@9 (Nile)
® b) T (Amazon)

® ¢) nome (Ganges)

® d) Q&ee,_'bg (Brahmaputra)



87. %R GVIH/NY BOTOT 8% TYNT O30T 22ReR030 O03PNY. (Which of the

following pairs about district Utsavs is not correct?)

® 2a) Tow WBW — weRd XY (Hampi Utsav — Bellary District)

® b) 3TOW YV — YVET FTIT &g (Kadamba Utsav — Uttara Kannada
District)

® C) ATD YTI - dTB»n B¢ (Sahyadri Utsav — Shimoga District)

® d) g YIW - wenodees B3P (Chalukya Utsav — Bagalkot District)

88. VTRC YOBCI® 2023 ITBT S@%ﬁ, (Venue of Aero India 2023,)

® a) 2XonweT> (Bengaluru)
o b) Zo0ey, (Mumbai)
® ) @O (Hyderabad)

® d) I (Panaji)

89. 83 FINT TAT TR TN — FeBNY pe@ODY IR LRI
R003IPNY. (Which of the following pairs of famous football stars — countries

are incorrect?)

® a) &S — 2323e* (Pele — Brazil)
® b) TBeemD — WFodm (Maradona — Argentina)
® c) 3R0IPVRC TSR — BRPFNRC® (Cristiano Ronaldo — Portugal)

® d) dclneese® Ty — W (Lionel Messi — France)



90. FTRFEITT 0l FFTY .20, 0TY TRV TRFF STORILRNT (In which

place in Karnataka P.M. Mitra Textile Park has been started)

® a) txend (Davanagere)

® b) Feveron (Kaluburagi)
® () 2%90 (Bellary)

® d) BSongrdd INT (Bangalore City)

91. 8 FLNT T3eTTT TN 50%71%30 — geo Fied QT e ALK EIONY)
035953 deB03 BO03NY. (Which of the following pairs of major

organizations in the country — head office locations is not correct?)
a) ISRO - &tx=03nct (ISRO - Sriharikota)

b) DRDO - SZ@x© (DRDO - New Delhi)

¢) BARC - moaﬂé (BARC - Mumbai)

d) RBI - =025 (RBI - Mumbai)

92. C%moc? Oene ofm@déé 20200 T (Diamond League is related to,)

® a) 30 (Football)
® b) 32%° (Tennis)

® ) gt (Athletics)



® d) o3 (Hockey)

93. BTFWIT WYFTONY Te3T TN %@D@% ﬁoﬁ@ﬁ%ﬂ TEITA Q. &8
FSNT O3 ﬁoféﬁ@d (Challakere in Karnataka has units of leading scientific

institutes of the country. Which of the following organizations are there?)

e a) ISRO, DRDO

e b) ISRO, DRDO, BARC

e ¢) ISRO, DRDO, BARC, IIsc
e d) ISRO, DRDO, BARC, IIsc, ICMR

94. 3¢0T AT, WTVENOD TAYZ Wgsdd, (Present President of Kendra

Sahitya Academy,)

® a) INF= 285 (Madhava Kaushik)
® b) 3033203 302T (Chandrasekhara Kambara)

® ) DGTTO B BoTE3eT® (Mallepuram G Venkatesh)

® d) DINT® I=ToF (Kumud Sharma)

95. TJOFEIBTH LRI e Aw/AR). (The Blue Flag Beach of Karnataka

1s/are,)

® a) TWUQ, - T 33 (Padubidri — Dakshina Kannada)



® b) BITZRCRD — YT FITW (Kasarakodu — Uttara Kannada)

® C) TWWWQ, — TBE FITW, TATERCR — 0T 33R® (Padubidri -
Dakshina Kannada, Kasarakodu — Uttara Kannada)

o d) TRUY - NN, PITERED — LWIT 55,@ (Padubidri — Udupi,

Kasarakodu - Uttara Kannada)

96. FINT TePINTY ORI BOOIPNY. (Which of the following statements

1s not correct?)

® a) WY TT [RBLO TFRF WPIAFT BRESIMET (Narco analysis is
done to detect lie)

® b) ¥TTIG TZ0PY DNA =02 Finger Print 30§§D§ 2¥FSNST (DNA
and Finger Print technology is used in crime detection)

® ¢) efeir%emef RIS T2 FBedenTH ajz;je%asc@ 2)$70890. (Police use
breathalyzer to detect alcohol consumption)

® d) ©3xRT TFTTY mgéaéﬂ “Two Finger Test” 331w 93T,

(“Two Finger Test” is still used for evidence in rape cases)

97. The Ashes TOTRTLOD RO FINT C000e8 TewFOIN FOOIPNG. (Which

of the following statements about The Ashes tournament is not correct.)

® a) QT ITFT T, FTIIPNT (It is a test series of cricket)



® b) YOO B @@G@Ofm B0TBNY IWE IEO3NST (Takes place
between the teams of England and Australia)

® ¢) ICC o3 BoTREYOND), VB = (ICC administers the
tournament)

o d) 2023 IFY Tor, W, SNFOOTW ARLPOBRY, VoRoT® T, weode
OP23R0RE (England retained the trophy as the match was drawn

in 2023)

98. BOTIe gPTT TeO FeTFOD BWOTIT FOOINT TePTODZY, OISR, (Mark the

correct statement about Vande Bharat train service.)

® a) YT, ¥ TRTT To3PeoTYN SRWIONT (It is designed for long
distance travel)
® b) v I=Y %cb FeROH NoSTW Wewoesend (This is successor of

Shatabdi train service)

® ) {PTBTY WFRIMITB [BRTO WIS 8 AexIoIPNT (It is the
first bullet train service to be used in India)

® d) 2024 S FRTN FIoFWITY 5 TOTEETT® T ReBNTTY,
2 BNBERNT (5 Vandebharat train services provided in Karnataka till

March 2024)



99. ¥TIT T ajéwﬁ@ofb 023 FENT dee®O30 FOC3NY. (The following

pair about India’s defense system is incorrect.)

® a) Do — OSDDCCSp A= (Rafale — Fighter aircraft)
® b) gﬁ@é@# - Od::t(:ﬁp t0% (BrahMos — Battle Tank)
® c) ©N, - TS (Agni — Missile)

® d) §© - $I5TT (Dhruva — Helicopter)

100. ZPOTORF BFFNY OB 8% TENT CINS TePFOIN OO3PNY (Which

of the following statements about beauty pageants is not correct)

® a) 3T TRULICIRET 2023 T WS AOTOOIPNTHTYT (Sheynnis
Palacios i1s the Miss Universe 2023)

® b) RTIT SBRTO DF AOTO Otz FOOI® (India’s first Miss World
was Reita Faria)

® () 2023 T uTF IO SNTLITD AR 3 (Sini Shetty is won the
title Miss World 2023)

® d) 27 IHRENY T0IT 2023 WX RS 6303%033 AGEOIN gRTITY
IB0NDT (After 27 years the 2023 Miss World pageant will be held in

India)






